Practice FINAL EXAM ANSWERS
1) B

2) C

3) D

4) C

5) C

6) D

14) 
a) Draw a normal curve with deviations labeled                                                 20, 40, 60, 80, 100, 120, 140, 160

b) No because it is within 3 S.D of the mean

c) Calculate the Z-score that corresponds to a p-value of .25 


(Z = -.67) 

Calculate the Z-score that corresponds to a p-value of .75 (Z = .67)
Then use the Z-Score formula to calculate the two x-values given the mean is 100 and the S.D is 20.


     
Q1 = 86.6 

Q3 = 113.4,           so the IQR = 26.8 

15) 
a) Use the Z-score formula to find the Z = -2, then look up the p-value which is .0228 or approximately 2.28%

b) Look up a p-value of .01 which gives you a Z-score of about -2.33, then, use that Z-score to calculate the new S.D given the mean is 12.1 and x is 12.  This would give you a S.D of about .0429.

1) a) Binomial Probability P(X = 3) = .1745 

b) Geometric Probability P(X = 7) = .0547
     2)
a) Binomial Probability P(X < 220) = .0032 

b) Geometric Probability P(X = 5) = .03125
3) (1/2)(8/20) = 1/5 OR .2

4) a) Mu = np = 120(1/3) = 40

b) S.D = 5.164

c) .0019 = .19%

5) Calculate the two Z-Scores and you will get a Z-score of 2.25 for science and a Z-score of 2.5 for math so she did better in math compared to the class.

6) Mu = np = 16.5

S.D = Sqrt(npq) = 14.685

7)  The mean would be less than the median since the graph is skewed to  

  the left.
8) P-hat would be .46 and is a statistic

9) The approximate value of p would also be .46 and the S.D of our sample would be .0255.
10) a) Calculate the Z-score which would be .75 and then look up the p-value, finally subtract the p-value from 1 to get an answer of .2266.

b) -1   1   3   5   7   9   11 (with a normal curve above the numbers)

c) Mean is 5 with a S.D of .2 which is 2/(sqrt 100).  

Using those values calculate the two Z-scores using 5.5 and 6 as the x-values.

You would get Z-scores of 2.5 and 5 which would give you p-values of .9938 and 1, when you subtract you would get an answer of .0062 or .62%
11) At least a sample size of 2,458,624
12) a) Calculate the Z-Score which would be .4 and then look up the p-value which would be .6554.

b) Calculate two Z-Scores one for 4.2 and one with 4.9 which would give you values of -1.2 and .2 and look up the p-values then subtract to get an answer of .4642

c) 1-Sample Z 90% confidence level would give (4.8837, 5.1163)

d) We are 90% confident that the mean cooking time for all 20-lb turkeys is between 4.8837 hours and 5.1163 hours.

e) The parameter of 4.8 is not in our interval.

13) a) 1-Sample P 80% confidence interval would give us (.127215, .175435)

b) In order to become more confident your interval would have to get larger. (Numbers would be further apart)

14) 2 Proportion Test

Ho: p1 = p2

Ha: p1 > p2

Conditions are met n1p1 >5, n1q1 > 5, n2p2 > 5, n2q2 > 5

P-Value = .768
We would fail to reject the Null Hypothesis which means there is not enough evidence to support the claim the percentage of local students who use drugs or alcohol is higher than the national average.
15) If the outcomes were 

1 came up 220 times out of 1310

2 came up 210 times out of 1310

3 came up 225 times out of 1310

4 came up 200 times out of 1310

5 came up 175 times out of 1310

6 came up 300 times out of 1310
Chi-Square Test (1-Variable)

Ho: The model is a good fit

Ha: The model is not a good fit

Chi-Square Goodness-of-Fit Test for Observed Counts in Variable: C1 

                          Test            Contribution

Category  Observed  Proportion  Expected     to Chi-Sq

1              220    0.166667   221.667        0.0125

2              210    0.166667   221.667        0.6140

3              225    0.166667   221.667        0.0501

4              200    0.166667   221.667        2.1178

5              175    0.166667   221.667        9.8246

6              300    0.166667   221.667       27.6817

   N  DF   Chi-Sq  P-Value

1330   5  40.3008    0.000
Since the P-value is less than .05 we reject the null hypothesis that the model is correct which means that there is strong evidence that suggests the die is not fair.

